Work in Mendays units
Concept Lecture - 6




25 persons can complete a work in 60 days. They

—_—

started the work. 10 persons left the work after x
zd  (80-2)d P .
} days. If the whole work was completed in 80 days,

25m |15m ‘then what is the value of x?
< e - 25 <gfad fadl 1T & 60 @& F W =
THS §1 Seeie A FET OF A1, x A &
25 SIC 10 gFadl & ®A BrF  fgam IR AR
X T 20D~ |5x = |5p0 FH 80 Rt # q gam, A x FT AT FwT §?

a) 90 b) 80 c) 20 /6/30

= WA=20¢
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30 men can repair a road in 18 days. They
—— —

are joined by 6 more workers. Now the road
can be repaired in o

30 giFd 18 f&Al # & TSH A
MFAT T Thd g1 6 3T FFaar &
I8 A B, AT TSH I AWFAC fhdel

fast 3 #r o whar &2
a) 14 days 45(15 days
c) 16 days d) 17 days
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50x66

50 men can complete some work in 70

days, after working for 10 days together, 20
men went on leave. In how many days was

the total work completed?

50 %9 fRdET & # 70 foaY & Q1 X
TFd £, 10 R aF & TY I FE
& 91g, 20 T3V T W T IT| Fe
mﬁmﬁﬁ?ﬁﬁwww

a)100 k{110 90  d)80
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20 men can complete a work in 20 days. 20
men started the work and 5 men left after 5
days. How many more days are required to
complete the work?




15 men can complete a work in 210 days.
They started the work but at the end of 10
days, 15 additional men, with double
,,/%(2 OO0 3 2 a‘?ﬁency, were inducted. How many days in
‘6égdall did they take to finish the work?
/Ll’rfg 15 3meaAt fFdlt wmr @ 210 R&Ar & @
F FHA g| A FEF F@AT AR T §

W 10 R G, aﬁw#rmmmﬁ
mﬁﬁwmama’raﬁ%ltgr

|5 FH @A g A Fa A REl &
) AT ANT?
a) 72 % days b) 84 % days
/76 % days d) 66 % days
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omplete f a piece of work in|20 days} How many more men

should be employed to finish the rest of the work in 25 more days?
20 oSt o 20 REl F  Fr qu F fEm ik 25 Red A arh
maﬁmmﬁ*ﬁﬁmﬁﬁtgxﬁﬁﬁgm%m

:‘;?OU? %2 c)32 d) can’t say
g oot
32w = %X% Vh¢
0 W X5 X 204
Rod]

12w
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K00x150

A man undertakes to do a certain work in
150 days. He employed 200 men. He finds
that only(a quarter \of the work is done in
The number of additional men
that should be appointed so that the whole
work be finished in time is:
% gmm;n 150 &= ﬁ%w ICIECG]
Sl dd Idl ¢l 200
IfFaal I HH W A™—T | W gl
gaT f& 50 AT § Fad vs U
HTH & I g FH P AT A
A & Tav sfafed Faa q&ul
fAgFa fFar s =fge?
a) 75 ero c) 125 d) 50
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60
= 4D wmen

20

|A contractor undertook to complete a
project in 90 days and employed 60 men on
it.IAfter 60 days he found that 3/4 of the
work has already been compl‘éTe_d. How
many men can he discharge so that the
project may be completed exactly on time?




Fourteen persons can do a work in 18 days.
After 5 days of work, 6 workers left the work,
and joined back on the last day of the work.
In how many days the work got completed?

dlqg =afFa, frdr &1 # 18 fae & qu
F THd 8] 5 T FI FF F 91, "6
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15. men can complete a work in 10 days

IGX ’Oxg—_ |200 mdhworking at 8 hours per day/ 15 men started
the work at 6 hours per day. After working for

\/|5X 6 XY =_360 wmol, days,|5 men left. The remaining men started

%z 29 working£#9 hours per day. How many days in
%”@% all they take to complete the work?

’ 15 <gfed frdY & # 8 e ufd e
%/Xy)/ l/QSX/C]/-3 S §C 10 BT & @@ w1 § 15

b) 12
d) 15
| | 11
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A project has to be completed in a maximum of
14 daysEZS men can finish that project in 12
days working at 6 hours per da@ 25 men started
the work at 8 hours per day but after 4 days, 15
men left. What is the minimum number of hours
per day the remaining men has to work to
complete the project before deadline?

fFdft detee A F¥Faw 14 R & q
AT & 25 AT 6 T UARA FH A 8T
12 Rl # 39 WoFE F QW W THS
25 @nr 8 ue yfafdd & FA T F
AT U P § W 4 e o 15 oty 1
B 3 # & T et B FH P
HARET ¥ ggd e & fav gfafea sq @
®H fhdel G FTH HIET IS3M?

a) 7 b) 8 9 ﬂm
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Ten employees estimated to complete a task iniZ_

days working at 5 hours per day. They started the work

at 5 hours per day but after 4 days they observed that

only one-fourth of the work is completed. Four
NN N iy .

employees were disappointed and left the work. How

many hours per day the remaining men have to work

—<I2-5h Yo complete the task as per the estimated time?

10 FAIR FH FF F 5 g gfafead FA FA@

gU 12 e & qU A FT AT A 8| 9 5
FET IR IS § W 4 ﬁ;r
|
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A certain number of persons can complete a

piece of work in 55 days. If there were 6_
persons more, the work could be completed

in 11 days less. How many persons were

originally there?

maﬁrwﬁﬁa?r’ T&h &I




20 men completed a work in certain
number of days. If there were 5 more men,
the work would have been completed in 4

™M d days less. In how many days a team of 40
men can do this work?

2  FIod 20 AR ¥ B I 3o R F @

H 4 fraT| 3R 5 afEa 3R AT @ FEF Y

B A7)ed [ AR A 4 R &1 AT FA 9|
40_&maﬁaﬂ'mm fraat

A QU FI THhal 87
20 X2 10 b)12 15 d) 16
=10d
Mo




12 men can complete a work in certain
number of days. 12 men started the work.
After completing 20% of the work,4 more
men joined, hence the work is completed in 4
days less than the estimated time. How many
days in all they took to complete the work?

12 a9 Pl FF B F R F qu
wha ¥ ammq«m%ﬁh
20% M U FA F a'rcr4 g 3R
AT @ 9 § 3R =W TER I
uiRa g8 ¥ 4 Re g & @areq &

Q

AT ¥ FE WO FA A Fer fhaa
feait &1 gHT Tem?
a) 12 b) 15 /{16 d) 20
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L6_technicians can do a task in_5_hours. 10
80 technicians started the work at 8 am, but
one technician being added each hour

JOX?Q =30 starting from 11 am, at what time the task

will be completed?

50 16 dodiea fRdl T #T 5 " H
¥FA 8| 10 dHelHdA Fa6 8 T F
HTAT 2 aﬂﬁ%m—crwaa»—«ﬁﬁu

1 SIS R i s
19 fFaal asr QU & Swen?

: a) 2 pm b) 2: 30 pm
\7) L‘\hr %pm d)3:30 pm




2= 46

8 employees together can complete a task
in 5 hours. 8 employees started the work at

10 am but starting from |12 noon,)one

person is leaving every hour. At what time
the work will be completed?

8 FAAN fHFEY ¥ & 5 "af A W
W%smﬁaﬁwm T S

'7, Y% " UH T HAT SIS
6 &dr g 1 fFda a9 @I @ SATT?
: a) 5 pm b) 4 pm
(5. “Yhr )4:30pm  _df4:40 pm
4 WX 0= Yo,
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15 men can do a work in 12 days. Twenty men
started the work but one man leaves every day
starting from the fifth day morning. On which
day the work will be completed?

15 =afdd frdt #1F 1 12 Re & qu &
gFa ¥ 20 AT 39 I P FEAT AT
A § W 53 BT Fag ¥ AR gdd
R F UF AFd F AT ST @l
%|qgmﬁaﬁﬁ?rmrcr€rm?
a) 10 th 11th ¢)12th  d)13th




>50

Sox5S)

One man started a work on first day, one more
man joined on second day, one more joined on
third day and so on till the work gets
completed. The work is completed in 50 days.
Instead if a group of 25 men work together, in
how many days the work gets completed?
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